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| Toutes les tables que tu connais sont mélangées. Réfléchis bien !
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 dxd4=. | 243= . 6x8=. | 82= _;35,:‘;5_.-“:5 _
6x3=. = 5’]5:5=.‘ | 48:8=. 4 9x3= )14::52_:.'
Rb:b=. | '2x8= i 4x3=.- : ?15:3=. . 8x8j=.
;12‘:{+;.. o ;Z.KS S 21 3= i(’:xZ:. ] 3x5= _

bxde | | | B2ig= | 3x8=. 6:3=. | | 3x2=..

4s:5=. | | @éx3=. | | #4x2=.  n8:3=.  16:2=.
25:6=. 8x3=. 9x8=. 9:3=. 10:2=.
6x3=.. 364:8z.1, G, | bxzﬁ:. - 8_x~4;=.§
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Sx%-—- 7 3 f28:..,4=.: | 7x8:.=.: . 12x4= e 27:3=.]
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!bo.:..: 9% S U S "1 SIS N T 2% . 15198 . oml
ﬁxiz.' i %10:5_:_._. . 72:8=. | | Bx@z ou i
n2:3=. | | ge:E=l | 1. 5xd=.| L pez=.| (LSS b 4
xd=.l | | Bea=.l | | so:f=d ) Gx2=. | o :
Qxfi: 2x3=. | 205: - 36:%:. |



